% LAPPSET.

DASH PARKOUR

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D’INSTALLATION

DATE: 7.11.2019

081765M




s LAPPSET. 081765M 1(1)

DASH PARKOUR DATE: 7.11.2019 3

081701M PCs 081702M PCs 081737M PCs 081741M PCs 081750M PCs| PCS|
1 1 1 1 1

= | | e || | e || e | B

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

Copyright Lappset Group Ltd

PCS

PCS

PCS

PCS

PCS

PCS




081765M

DATE:

s LAPPSET.

DASH PARKOUR

7.11.2019

1:75

0L9
o N
~
o L Q
0 ~Gz9 | T ozz
Lu 8 muoom o
N , AN ﬂ
oBe & A
AJ\TY 7 =
2 womm R 2
d N7
o o% oos
08t S EIRGTE
3
™ m 0zl
0
/N A |
N N iv 09%
/N AN o
\mu\ « | M \
AN /;,Em/Ho% 1y
| NUAY T
pee = M N = o | 3 , 00¢
" 1P &ove | B
o N / [ 1=
I N y, olloLL 7 Wﬂ
0 « p © « - 6
11 J|QM
| 006 Feat
L1 s 2 3 |~ 1" 1Lsg
o} = ol8 - H-&
P 8 0 |o9l ©
3 3
N - 06¢
(@] (@] O O O (@] (@] O (@)
O O (@) (@) O O O (@) o
O (@] O O (@] O (@] O (@)
(@) 0@ ™~ O Lo <+ N [@N — O

1000 2000 3000 4000 5000 ©000 /7000 8000 9000 10000

0

p3}1 dnoug 3jesddp jybrkdon



s LAPPSET. 081765M

DASH PARKOUR 4 b

DATE: 7.11.2019

Copyright Lappset Group Ltd

1:75
0 3
1220 \
¢
®
s 380
3480 ‘
N\
1410 /TN o
o N\ N
g / e g
] ot N
AN
- AN
o \
~
(@] (@]
< N
(@]
(o)}
(@] o
o0 M
I R . 3
Q
2 3 o X
\ yZ -
N AN
D \ // _ O g \)%/ AN /\Q}
o of TO Q N )
\ »
o 2 2 2 = o
N 1 0 ¥ N
1770 960 1260 810 2060 1150 740 440
440
11590




Copyright Lappset Group Ltd

% LAPPSET.

DASH PARKOUR

081765M

4c

DATE: 7.11.2019
1:75
0 3
x
o
~
+6060 o \
) ) N\
N8
8 / AN
/
N p N +5140
_ \
s 9 N
+4640 S S N
N N S 4220
}+3720 N 7/ +3800
/N
AN / VAN
+2810 X 7 +2950
42580 /
@ o 7/ 8 o
NM / 9 3l =
42000 & SIS
P +1730 N +1790 © 21650
< > +1340 4
+1230 Gé/ 3\ Q = T Q@ NPUREEN +121
5] \ = N
+770 \ A N NN \
N /% +290 +640 N @\ \\‘Z +500
\ - +190 4 N
‘o PI/ 4140 . > © v +6
o
@ | 1050
N
\ B o| o olo ol ol o o o| o ol o
LR sl ¥ g 3 3l dlgl ¥
L ol ©
\ 2820
I




Copyright Lappset Group Ltd

081765M

DATE: 7.11.2019

s LAPPSET.

DASH PARKOUR

EN Impact Attenuating Surface (IAS) 82.5 m2

EN Falling space 91.9 m2 1:125
Max Falling Height 2450 mm
13720
11620
PRIMARY RULE:
e S /\
RED LINES TOGETHER 9 1 1 O
AREA BOUNDARY \
S \ N\
l'"\) (@] o
- S | ¥ NS B
S o ©
— 00 ~ —
/| > \\ .
12180
+2450
\ +0
z




& LAPPSET. 081765M

DASH PARKOUR DATE:  7.11.2019




& LAPPSET. 081765M

DASH PARKOUR DATE:  7.11.2019 8




Copyright Lappset Group Ltd

% LAPPSET.

081701M

DATE: 9.8.2019

1(1

)

(1) 702341

cs|(2) 709381

PCS

1] 2

SURFACE

(3 910220 |pcs

300x470x662

FOOT OPTION FOR
DEEP MOUNTING

709379+
(O 902564 |pcs
2

L 550

Falling Space 10.8 m2

Max Falling Height 300 mm

/ 470

1500

660

1500

3660

+180

+0




Copyright Lappset Group Ltd

% LAPPSET.

081702M

DATE: 12.8.2019 1(2)
(1) 702341 |pes|(2) 708109 |pes|
1 m 2]
90x50 | | 118x118x697 | |
(3) 708443 |pcs|(a) 708848 |pes|
2 2
_ é% i
118x118x352 | | 18x450x690 | |
(5) 708849 |pes|(6) 708850 |Pes|
l 2] D 2|
18x450x690 | | 15x450x690 | |
(7) 708851 |pcs|(8) 708852 |pes|
1 1
+660

— +530 & Q
+0 +0 15x300x1005| | 15x500x1005| |
(9) 708853 |pes|10) 708854 |pes|
1 1
15x112x1005 | | 15x425x1005| |
(11) 708855 |pcs|i2) 900240 |pes|
8 8
45x45x975 | | @8x70 | |
(3 903093 |pcs|i4) 908371 |pes|
4 2]

980123 M ®
@8x90 | | 42-38/40 | |
(19 908698 |Pcs|(16) 910056 |Pes(i7) 980100 |Pes(ig) 980104 |pesfi9) 980123 |Pos|20) 980128  [pes
4] 1 24] 52 27 4]
3x114x108 | | 140x690 | | @5x60 | | @5x00 | | @760 | | e7xa0 | |




Copyright 1998 Lappset Group Ltd

% LAPPSET.

081702M

DATE:  12.8.2019 2(2)
709261+ 709262+ \‘@T ‘ 180 |
(O 910330 [pcs|() 910567 :
SURFACE |2 |CONCRETE
I ! I
152x200x200 117x117x715 :I =

‘ 820

42-38/40

908371

Falling Space 13 m2

Max Falling Height 660 mm

720

1500

1500

3720

4000




Copyright Lappset Group Ltd

% LAPPSET.

081737M

DATE: 20.4.2020 1(6)
(1) 707210 |res|(2) 707213 |pes|
18] 4]
118x118x503 | | 118x118x1490| |
(3) 708042 |cs|(a) 708125 |pes|
2] 2]
118x118x1185| | 118x118x1326| |
(5) 708522 |pcs((6) 708688 |Pes|
2] 2]
118x118x2139| | 118x118x2279| |
(@) 708721 |res((8) 708722 |pos|
2] ]
15x745x1766 | | 15x745x2280| |
(9) 708723 |rcs(i0) 708724 |pes|
1 na
15x745x1185 | | 15x745x1326 | |
(11) 708857 |Pes|12) 900240 |pes
I 100
+2450 7
+2295
4/7 [=—"—""| L L
oo | 200133149 28x70
+
(13) 903093 |Pcs(14) 903533 |pcs
+1340 16| 6 |
@8x90 | | SrRu2 | |
1T [ +0 +0 1T (19 905103 |pes((ip) 905112 |Pcs|
630 630 16 16
N ®
PT-28/32-H| | @22 | |




Copyright Lappset Group Ltd

® LAPPSET. 081737M

DATE: 20.4.2020 2(6)
(17) 908371 |pcs|(8) 908698 |pes|(19) 910056 |Pes|0) 910266 |Pes(2]) 702286 [Pes(29) 910328  [ecs|
6 16 3] 18] s N
42-38/40 | | 3x114x108 | | 140x690 | | 9ox108x118 | | e5x65 | | L 1466 | |
980100 |rcs(24) 980123 [Pcs(d) 911297 |[Pes|@6) 911293 |Pes|@7) 911295 |Pes|@8) 911301 [pes
@ g@ ﬁ@) MURAL "9 COLOR = COLOR e COLOR [
1 1 1 1
. | ﬁ%ﬁg é C 0
@5x60 | |  @7x60 | |12x745x2140| | 15x745x2145| |15x745x2004| | 15x745x1495| |
911103 |Pes(30) 911305 |pes|(3) 911307 |pes|6d) 905086 |Pes|G3) 909132 |pesiGd) 909248 |pes
COLOR 1— COLOR 1_@ COLOR T@ ?® T 1—
0 @ 0 — o
15x745x1495 | | 15x745x1192 | | 15x745x1050 | 31| @44/13.5x3.9] | M12x280 | | w12 | |
(9 980114 frcs FOOT OPTIONS
4 709261+ 709262+
(O 910267 [res|() 910567 [pes
~ SURFACE |8 |CONCRETE |8
@4x20 | |
152x200x200| | 117x117x715 | |
’I
 \1
_ '
%
+1500

+150 ) +160
+0

1620 /10 |
‘ ! 1620




COPYHIYITL LUpPpdEL BIUUpP LU

#® LAPPSET.

081737M

DATE:  20.4.2020 3(6)
1:50
——  EN Impact Attenuating Surface (IAS) 27.6 m2 . 5
—_—— Falling Space 27.6 m2
Max Falling Height 2450 mm
7 1630
// o AN
,/ ) AN
/ £ N
1640 = n
i o \\
M \
(0] |
— }
| ) |
\ o
V2
\‘ N %
[ 2130 | S
| |
l\ ‘
| |
y( J Il
\\ //
\ !
\\\ o ///
\ M /
\\ ‘0_3 //
5260
DET 1 DET 2 DET 3
@8x70

@8x70
900240

900240
(USE DRILL JIG)

@22
905112 @8x90

903093

—

PT-28/32-H
905103




% LAPPSET. 081737M

DATE:  20.4.2020 4(6)

DET 4 DET 5 DET 6
@7x60

980123 1
%
I

@7x60
980123
DET 7/ DET 8 DET 9 DRILL PREHOLES
@6mmBEFORE
— INSTALLING HANDLES
—T f
SRL12 = "
903533 ..
@7x60
980123 ~.|
900240 @8x70
900240
DET 10 DET 11 DRILL PREHOLES BEFORE INSTALLING HANDLES
42-38/40

908371

42-38/40
908371

900240

Copyright 1998 Lappset Group Ltd




Copyright Lappset Group Ltd

#® LAPPSET.

081737M

DATE: 20.4.2020

DET 1

Install this plate last

Check Det 12

JIG DET A (USE DET 2-3)

NOTE:
Use drill jig 708857
to predrill ©@5V¥50
holes for 910266
and 908698

/08857

JIG DET B (USE DET 11)

Plywood
3

708857

(900240)

\b\ Frame

D8 V15




Copyright Lappset Group Ltd

% LAPPSET. 081737M

DATE: 20.4.2020 6(6)

DET 5

Install this plate last

Check Det 12

DET 4

DET 12

M12x280
909132

044/13.5x3.9
905086

Drill 214 thru all

909248




Copyright Lappset Group Ltd

% LAPPSET.

081741M

DATE:

7.11.2019

1(3

)

(1) 702341

(2) 709159

15x1200x1486

PCS

1

15x1486x2174

o
(9]
[%2]

| |

(@ 709161

/7

15x1170x2170

(5) 709162

N

15x1376x1486

e
(9]
%]

| |

(6) 709163

15x1170x1620

(7) 709164 |pcs|(8) 709165 |Pcs|
2 2
18x80x1135 | | 18x80x1420 | |
+1740  ((9) 902233 |Pcs|10) 905112 |pes]
24 24
+1310 4 — —

+1110 & @

+670

M1Ox30 | | g22 | |
(11) 909637 |pes|(12) 909638  |pes
+0 +0 - i
24 48

\et &)
Mo | | @20/105 | |
(13 909876 |rcs|(i4) 910744 |pcs|
48 1
M8x40 | [154x1160x1445 |
(19 910768 |pos|(16) 910769 |pesfi7) 910793 [Pes(ig) 910794 [Pes|9) 910795 [Pes|@0) 910796 |Pos|
2] 2] i 1 1 1
30x60x1349 | | 30x60x1504 | | L2158 | | L1425 | | Li1ess | | Less | |




Copyright 1998 Lappset Group Ltd

% LAPPSET. 081741M

DATE:  7.11.2019 2(3)
(2) 980108 [Pcs|22) 980128 [Pes|2d 980150 |pesfe4) 980151 [pcs|
4 12 48 ad FOOT OPTION
] ‘U @ & 709387+
v (O 709386 |pes|() 910567 |pcs|
] - - — SURFACE | 1|CONCRETE |4
D4x25 @7x40 M8 216/8.4 ﬁ — —
g —A —oA
M16x170 117x117x715
©20/10.5 M10
909638 909637

M10x30
902233




Copyright 1998 Lappset Group Ltd

% LAPPSET.

081741M

DATE:

7.11.2019

@7x40
980128

980150
216 /8.4

980151 909876
EN Impact Attenuating Surface (IAS) 24.4 m2
1:75
I .
———— Fadlling Space 24.4 m2 0 3
Max Falling Height 1740 mm
2160
o)
©
(o]
1660
o o
— v M
PN 1660 3
. —
o
©O
©
5480




Copyright Lappset Group Ltd

% LAPPSET.

081750M

DATE: 17.6.2020 1(2)
(1) 702341 |pes|(2) 704879 |pcs|
1 i 19
/ 90x50 | | 3x30x120mm| |
(3) 708880 |pcs(4) 980151 fees
/ = -
% | 1
o A | <
A . |
\\é&: [_—— B77x20 Q16/8.4
& (5) 904133 |pes|(6) 909258 |Pcs|
20 8
A N (o
> &
< MI0x80 | | M8x55 | |
& O (7) 909633 |pcs|(8) 910547 |pes|
8 12
U ) /
M8 | | @42.4x1200 | |
910549 |pcs|10) 910556 |pes
+2410 @ _ e
4 6
+2400 . +2100 / ] ﬂ T
§42.4x286x2042 | L 2400 | |
+1100
(1) 910557 |pes|32) 910563 |Pcs|
19 ﬂ 12
+0 - |
| 2000 | - —
‘ 1730 ‘ 10x45x87 L 2100
| PCS PCS
DET 1 vioxgo |DET 2 (13 910564 |pcs|(4) 910704 |pes
H M10x80 2 5
H e % o ﬂ - / |
\@\@ SS | - @42.4x2600 ]

®\@




Copyright 1998 Lappset Group Ltd

% LAPPSET.

081750M

DATE:

17.6.2020

2(2)

DET 2

E— EN Impact Attenuating Surface (IAS) 45.7 m2

1:75
[ s
- Falling Space 45.7 m2 0 3
Max Falling Height 2410 mm 3770
INSTALLING FOR
SURFACE MOUNTING o
o
(O 709396 |pcs| S
19 1300 1300
] | | |
< ’/ o - >
& 1200] |
| ° 450
S 7S Sx
3 2100 Q f %
FOOT OPTION FOR o 3
DEEP MOUNTING I
ol 5 o 1900
709397+ » E
(O 910562 |pcs| 1 g EN
10 /
o
o
(e}
L 600 | |
7770




8% LAPPSET.

IAS EN 16899

Copyright Lappset Group Ltd

REF:
DATE:

.

24.9.2020

4x

]

]

h <1600

Totally hard surfaces or
materials with very limited
impact attenuating properties.

Case by case risk assessment is
needed including e.g. evalution

whether there is forced movement,
what is the intended exercise and where
will the product be installed.

Materials with significant
impact attenuating
properties.

Totally hard surfaces.
E.g. concrete or asphalt

Materials with very limited
impact attenuating properties.
E.g. wood

UL LD DT I 7T 770

fine gravel 0—8 mm

s _— P

A g AN Cama g 9% oL

LRy 435437 $010 emla s
- e 44 40 P ®

Unsorted sand/ topsoil

el

h = 1600-
h <3000

Loose fill material

E.g.

sand/gravel 0,25...8 mm D60/D10<3,0
Woodchips 5...50 mm

bark 20...80 mm

Syntethic granulates

S h

40 mm ~> 1,6..~< 1,8 m
50 mm ~> 1,8..~< 2,25
55 mm ~> 2,25..~< 2,4
60 mm ~> 2,4...~< 2,55
70 mm ~> 2,55..~< 3,0

3333

Note. For accurate values, see
manufacturer’s instructions.






